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Summary:
Week 1 Lesson 4
Variables and Expressions
Standard Independent Variable vs Dependent Variable:
A-CED.2 In an experiment, the independent variable is something
being manipulated or changed and the dependent variable is
the result of the independent variable being manipulated.
For example:
whatisthe | Does listening to ear buds for long periods of time make
difference you go deaf?
between an
independent -T-‘}. Can. I3 Aws on 'B\L \de(
variable and a
16 n the Walter the Walker problem, what 18 the independent
dependent [ In the Walter the Walker problem, what is the independ,
variable and what is the dependent variable?
TV Weexs
DV distance
Expression:
A combination of symbols (letters and numbers) and
operations (such as addition, multiplication, raising to a power)
that are executed in a precise order.
What d .
exp?;ss?:; ook An example of this An example of this
like? looks like: does NOT look like:
LIS
What is the difference between a numerical expression and an
algebraic expression?
Womerical expessan. only has Mumbes
Pldydic agesion. has thmbers § Leteers
Summary: .

Notes
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Writing Expressions w/ Addition

You are traveling east along an interstate highway.
When you enter the highway, you are at mile marker
8. Mile marker signs always start numbering at the
western border of a state for east/west interstate
highways. What mile marker will you be at when you

have traveled 84 miles?
7'

Standard
A-CED.1

Draw a picture: %’-I'I\;k$

What is the independent variable?

0
What is the dependent variable?

Mile MacKers
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Expression:m "’6 ’I ;IL’,

Summary:

Notes

Write Expressions w/ Multiplication

Standard

Jovan earns $8 an hour at his after school job.
A-CED.2

Write an expression to model how much Jovan
will make after /2 hours.

What is the independent variable?
BLY S
What is the dependent variable?

ey |

/

Input Output

N
2 |1
EAES
L4 |
123856 1494 Input

Expression: &' uﬂ" S

e

Co ive Property of Multipli

Is "/ times 8" the same thing as "8 times 4"?

Yes ‘oetste no matker Hhe order
we gzt the Same anSwer.

Is mrue#aaddmon subtracn(;:‘a:dl glvmon"
Q+$:$’3 T2 2% €229
o B b b 4 §

|
Coefficient: Nb' Nb\

the number in front of a variable

Summary:

Notes
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Writing Expressions w/ Mult. & Add.

Standard
A-CED.2

Michael is getting a membership to L.A. Fitness.
He has to pay a sign up fee of $20, then it is $10
per month after that. Write an expression that

represents the overall cost of the membership for
m months.

What is the independent variable?

What is the dependent variable:

ey

3

E
=]
s
k=]
=

cwD-Q

_:'ngg

11345676 0m Input
Expression:lm *20 ‘“h\‘)

How much will Michael have spent after 12 months?

s [§H0)

Summary:

Notes

Solving Equations

Standard
A-REL3

2 step equations:

Summary:

Notes

March 13, 2013
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Solving Equations and Inequalities

standard Vocabulary:

A-REL3 Like Terms: MUI\\MS With He Same
VasalleS-

EXa.wele 2§ Ix  of S“l qb

Combining Like Terms

@—' Justlﬁcatmn
Gx+5922 @Cm\m;n"
LiKe Tims
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v
\
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-
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>
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Summary:

Week 4 Lesson 1

Solving Equations and Inequalities

Standard| Distributive Property

A-REI.1
Justification

—2 3x+4)=22 '

2; (1) Distributive Property
(2) Add of Equal
Addition Property of Equality
+h 3
— (3) Division Property of Equality

@8)>50
H0350

-4%0 [-40

%717

X >a

Graph on a number line:

Y4 AN

-
23 4 %

o +
l— 4~

Summary:

Week 4 Lesson 1
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Solving Equations

Variables on same side Variables on opposite sides
Standard

A-REL3 @%? ; Vs. @ﬁ%]

Wt
(3
X ¥ =;__
3

XE12

1

~3X

X=3

A |

Summary:

Week 4 Lesson 2

Setting Up Equations and Inequalities

Standard| Example 1: Leroy works part time for a moving company. One day
A-CED.1 he had to move 34 boxes from a truck to inside a
house. After moving some boxes, he took a break and
told his boss that he has only 15 more boxes to move.
Write an equation that can be used to find how many
boxes Leroy moved before his break?

X+t 16 g%
W .
0‘3 3 3+ - '5 = X
Example 2: During a sale, customers receive an extra
discount if they spend $200 or more. So far,
Erin’s purchases total $135. Which inequality

can be solved to show how many more dollars d
she must spend to receive the extra discount?

Wl 200< 135+d,
MD;?: 129+ =200

Summary:

Notes
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Writing Equations and Inequalities

Standard|
A-CED.3

During the summer Josh cleans houses. He charges $25 every time he
cleans a house. Josh spends $5 on cleaning supplies per house. Josh
wants to go on trip to Disneyland at the end of the summer. The trip will
cost Josh $1100.

Part A: Write an inequality representing the number of houses that Josh
needs to clean to earn at least $1100.

Hh-3h =100
2= 1100

Part B: Now assume Josh saves all of the money he earns. Determine

Show your work. !
} O
m !!Q—

Part C: If Josh cleans42 houses this summer but spends money on

2 D-Backs tickets that cost $38 each, determine if he has saved
S

enough money to go on the trip. Show your work

20)-23%) = 100
Yo—-56 =1[00

784 = 1100
.Lév\ has m‘gm&c 374 Thek ts

M O{:O'\\\IS T‘\?

Summary:

Notes

Rearranging Formulas

- - —
Standard™ the following equation, how do you move the 2 to the other side?

A-CED.4 -3&-: %

‘What Justification do you use with it?

o o
Darsen Togerly of e.qo-.\.\es
'What happens if the 2 changes into a "y", how do you move
that to the other side?

What Justification do you use with it?
Divson Fgerty of equality
Now what if there were no numbers and we were given a formula?

bh=A

Solve@',‘a E -ﬁsﬂx—%ﬂ
b-f h=“$

‘What Justification do you use with ||'7 thl Justification do you use with it?

A

Dirsan R-quﬁa 090-"'-:)
i o? Cﬁ\\)q\l\-n

V Iwh

Solye for "1". f Solve for "w". Solve for "h'§

t
T T
i m=h

Summary:

Notes

how many houses Josh must clean to reach her savings goal for the trip.

hz99
T neadsdyean ot Least 55 houses.

March 13, 2013
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Review

The area of the rectangle shown is more than 64 square inches. Write and
inequality that can be used to find x then solve for x.

x+10

Jane is hired as an intern at a school. She gets a $50 up front and makes $20 an
hour. If / represents the total number of hours that Jane works and ¢ represents

the total amount of money she will make, does the equation t=(20+50)h model
the scenario? Why or why not?

Tell me in words what this says:

4b<58

Martin could travel 68 miles in 4 hours.
What is his speed?

At the same speed, how long would it take him to travel
170 miles?

At the same speed, how far can he travel in 5 hours?

Summary:
Notes
Domain, Range, and A Function
‘ocabulary:
Standard  DOMaiN: x Value, In-Put, Independent Variable
F-IF1 Range: y Value, Out-Put, Dependent Variable
Function: For every x value there is one y value
Vertical line test: a ‘ placed on the graph and located
where it touches th aph if it touches more than 1
point at a time it is not a function

Given the following set of ordered pairs, find
the doma)l(n ang range.

Y
Ex: {@(;),@,o),@,-s),@,é»
-Bomain ¥ (=0
Range' ) (-3-3,0,3)
The set of ordered pairs may be an infinite
number of points, described by a graph.
Given the

Tollor
find the dom

|
|
Dam] [alpr_.q.) ‘ ‘

Ronae: (00)

Use the Vertical Line test to see if these

graphs are a function:&ub

Summary:

Notes

March 13, 2013



Quarter 1 Notes

Values of Functions Algebraically
and Graphically

Standard|

F-IF.2
and

A-RETL.10]

Finding the Value of a function:

What is the value of the function f(x)=5x+2

a)When x= 10 ‘5(10) +2
50+

b) When x= 9 5@) +2
45+

c) When x=6 5“}) ...3

o+a

d) When x=56 5(%> *3
A00*
I3 |

Finding the Value of a function on a graph:

Use the graph of the function: f(x)=x-2 to find the value of the
function at x=4 .

Summary:

Notes

Graphs

Standard
F-IF.7a

Vocabulary-
rise $

Slope: rafe Qf v[mngv un €

y-inlercept:—‘|>— where the line crosses the
y-axis
Slope-intercept form:

y=mx+b

mis the _slope bisthe y-intercept
How we Move Where we Begin

Identify the slope and the y intercept in the following equations:

y=3x:2 y=2x3

v
slope:-2= T

slope:3
y intercept:2 y intercept: -3
Now let's try graphing the following equations:

y=3x+2 y=2x3

Summary:

Notes

March 13, 2013
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Identifying Domain

Standard

Review: What is domain? Use 3 examples.
F-IF.5

Domain is the x Value, Input, and the Independent Value

A hiker walks 10 miles per day for 5 days.The function
f(x) = 10x give the distance the hiker travels in x days. What is
the appropriate domain of the function?

O<x<H

Identify the situation that represents the domain shown in the

graph:
16
14 *
1z +*
10
+*
z ‘ #Y-Values
N *
2
o
o 1 2 3 4 5 &
a) The temperature in the winter decreases by 2 degrees per hour
b) The average biker speed is 10 miles per hour
c) Jake has a job mowing lawns. He makes $3 per hour
d) Harkins charges $8 per person to see a movie
Summary:
Notes
Slope
Standard| Find the slope given 2 points using the Slope Formula:
F-IF.6 Yo=Y .
m= 2 1 rise
Xy =X = yun . using (xyy1) and (x2,y2)

Example: Find the slope of the line that contains the given points.

e (2,3)&(@1,2) b. (4, 3) & (0,-5) . (1L -2& (5.4

2 Huecoeates a budget forher weskcy savings
The graph shiows hew muchmenayis inthe
AccourE a1 different temes. Find the slope of the
tine. Thentell whatrate the dope represenis

1. Jim drove forseveral howrs, recording the
distance he hadtraveledin miles. Graphthe data
and findtherate of change

]
[Hous [0 [ 2 [ 356 T
Miles 0 150 | 225 | 375 | 450

k] 1222007

14,1400

o A The sdopess-100. The slope memns tut the
ammmt of moaey in the accautis
decreasngata rate of $100 svery week.

prpr 4

113 4 356 7 8 8 0 1

raeorenage: /D Miles per hour

=

Thie dlogais 0,01 Tha slope means that th
amoue of measy i the accowris
incrensngatarate oFS0.01 every wedk.

-]

The slope 35~ 100. The slope mesns that the
ammnm o{nmy i The Becoust is
dcreasingata rate of $100 every Irecks

Summary:

Notes
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Graphing Inequalities

Standard
A-REL12 y=2x vs. y>2x
5x—4y>20
Summary:

Notes

X- and y-intercept

Standard
F-IF.7a

i ¢ ot -
Ick

Thumb|
Rule

x-intercept: @0

y-intercept: ©4

[x[2[-1]o] 1]2]3]

‘y-4-3-2—10 1‘

-intercept (when v is 0): *)

y-intercept (when x is 0): ©-2)

T

Notes
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